
 

 

Answer on Question #62458 - Chemistry | General Chemistry 

 A student used 0.750g of potassium hydrogen phthalate dissolved in 50.0 mL of water as 

a primary standard (MW 204.23 g/mol). 36.01 mL of sodium hydroxide aqueous solution were 

required to titrate the sample. What is the molarity of the sodium hydroxide solution? 

Solution 

m(KHP)=0.750 (g)  

M(KHP) = 204.23 (g/mol)  

n(KHP) = 
m

M
=

0.750 g

204.23 g/mol
=0.00367 (mol)  

C(KHP) = 
𝑛

𝑉
=

0.00367 𝑚𝑜𝑙

0.050 𝐿
 = 0.0734 (mol/L) 

Since potassium hydrogen phthalate and NaOH react 1:1, the moles of NaOH required for 

neutralization of the potassium hydrogen phthalate is 0.0734 (mol/L). 

KHC8H4O4(aq) + NaOH(aq)  H2O(l) + NaKC8H4O4(aq) 

CNaOH=
0.00367 𝑚𝑜𝑙

0.03601 𝐿
= 0.1019 (

𝑚𝑜𝑙

𝐿
) ≈ 0.1 𝑀 

Answer 

Molarity of the sodium hydroxide solution is 0.1 M. 
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